
1.)	
  

The	
  point	
  of	
  maximum	
  stress	
  will	
  be	
  at	
  the	
  
bo7om	
  of	
  the	
  arc,	
  so	
  that	
  is	
  the	
  point	
  we	
  
need	
  to	
  test.	
  	
  A	
  f.b.d.	
  for	
  that	
  point	
  is	
  shown.	
  	
  
Summing	
  forces	
  along	
  the	
  line	
  of	
  tension	
  
yields:	
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                          = 85.0 kg( ) 9.80 m/s2( ) + 85.0 kg( ) 8.00 m/s( )2

10.0 m( )
                          = 1380 N

rope	
  

Given	
  the	
  velocity	
  at	
  the	
  bo7om	
  and	
  the	
  radius	
  of	
  the	
  arc,	
  the	
  tension	
  required	
  
when	
  at	
  the	
  bo7om	
  is	
  greater	
  than	
  the	
  1000	
  newtons	
  available,	
  which	
  means	
  
the	
  archaeologist	
  is	
  going	
  into	
  the	
  drink.	
  


